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P9~ (1043) Suppose that there are 100 people who have the same $1 marginal benefit for a public good
(X) regardless of the number of public good provided. If the total cost of providing the public good is
given by TC(X) = 100 + 2X, what is the Pareto efficient number of the public good to provide?

FH~ (10 4>) What are dominant strategy, dominated strategy and Nash equilibrium in game theory? Also,

please explain the importance of these three concepts.
AN~ (304 §/NER 10 4) TruelFalse/Uncertain. Please explain your answer in detail.
(A) A consumer only consumes two goods (X and Y). If the income of the consumer increases by 10%,
the price of good X increases by 10% and the price of good Y decreases by 10% at the same time.
The consumer necessarily be at least as well-off.

(B) A firm’s marginal cost cannot be negative.

(C) An increase in the demand for a monopolist’s product will always result in higher price and profit.

# s | T MEERRELEE X Fy -
Tl = REmEM s -






